ortable Medical Oxygen and Related Supplies and Services for the State of Nebraska Veterans' Affairs Long Term Care Facilities				Island Supply Welding Co		Northwest Respiratory Services				
lorfolk Veterans' Home (NVH)										
LINE#	DESCRIPTION	QTY	UOM	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXT	TENDED PRIC		
1	PORTABLE MEDICAL OXYGEN SYSTEM Includes E CYLINDER, regulator, flowmeter, humidifer, cannula or mask, and tubing. MONTHLY RENTAL WITH CONTENTS. 1 EA = 1 month rental	4450	EA	No Bid		\$0.75 per day or \$22.50 per month	\$	100,125.		
2	OXYGEN CONTENTS, GASEOUS Includes E Cylinder and Oxygen Rental 1 EA = 1 month rental	8959	EA	\$ 7.65/cyl	\$68,536.35	\$ 5.75/Each	\$	51,514.		
3	OXYGEN CONCENTRATORS  MONTHLY RENTAL  1 EA = 1 month rental  State number of hours of usage:	3,000	EA	No Bid		\$ 40.00/Mo.	\$	120,000.0		
4	OXYGEN CONCENTRATORS PURCHASE CIRCLE: New or Used					New Price: \$ 850.00 Used Price:	\$	850,000.		
	State number of hours of usage:	1,000	EA	No Bid		\$ 600.00	\$	600,000.		
5	BIPAP MACHINE					BiPap S: New Price: \$ 1,500.00	\$	37,500.		
5	PURCHASE  Circle New or Used	25	FA	No Bid		BiPap ST: New Price: \$ 3,000.00	\$	75.000		
6	BIPAP MACHINE  MONTHLY RENTAL  1 EA = 1 month rental	25	EA	No Bid		BiPap S: \$200.00 / Mo BiPap ST: \$325 /	Þ	75,000.		
	I LA - I IIIOIIIII IEIII.ai	50	EA	No Bid		Mo	\$	10,000		
7	CPAP MACHINE PURCHASE		2,1	110 514		Cpap New: \$950.00 / Mo	7	10,000		
	Circle New or Used	25	EA	No Bid			\$	23,750		

	CPAP MACHINE	1								
8	MONTHLY RENTAL									
	1 EA = 1 month rental	50	EA	No Bid			\$120.00/Mo	\$	6,000.00	
9	NEBULIZER KITS WITH MASKS AND TUBING	25	EA	No Bid			\$80.00 per case	\$	2,000.00	
10	NEBULIZER W/MOUTHPIECE AND TUBING									
		25	EA	No Bid			\$80.00 per case	\$	2,000.00	
11	CANNULA W/ 7 FT TUBING AND EAR WRAPS									
		825	EA	No Bid			\$2.00 Each	\$	1,650.00	
12	OTHER CATALOG/PRICE LIST ITEMS Includes cannula, head gear and mask, and tubing.				0%			25%		
12	NON-CORE STATE % OF DISCOUNT OFF CATALOG/PRICE LIST				070			2570		
13	OTHER PORTABLE OXYGEN CYLINDER RENTAL AND GAS CONTENTS  NON-CORE STATE % OF DISCOUNT OFF CATALOG/PRICE LIST				15%			25%		
14	OTHER MEDICAL EQUIPMENT  14 NON-CORE STATE % OF DISCOUNT OFF CATALOG/PRICE LIST				15%		25%			
	Total					\$68,536.35		\$	1,879,539.25	
Central N	lebraska Veterans' Home (CNVH)									
LINE #	LINE # Description Estimated Qty UoM					EXTENDED PRICE	Unit Price	Ex	tended Price	
15	OXYGEN CONTENTS, GASEOUS  For use with <u>State Owned</u> E cylinder  1 EA = One month's supply	14,316	EA	\$ 5.65/cyl	nder	\$ 80,885.40	\$ 5.75 Per F	\$	82,317.00	
	OXYGEN CONTENTS, GASEOUS	14,310	LA	ς 3.03/cyl	iiuei	۷ 00,063.40		Ą	62,317.00	
16	Includes E Cylinder and Oxygen Rental  1 EA = 1 month rental	1,000	EA	\$ 7.65/cyl	nder	\$ 7,650.00	\$ 5.75 Per E	\$	5,750.00	

	NEBULIZER KITS W/ELONG MASK AND							
17	TUBING					\$ 80.00		
		1,450	EA	No Bid		per case	\$	116,000.00
	NEBULIZER W/MOUTHPIECE AND	·				•		·
18	TUBING					\$ 80.00		
		1,600	EA	No Bid		per case	\$	128,000.00
	CANNULA W/ 7 FT TUBING AND							
19	EAR WRAPS							
		1,325	EA	No Bid		\$2.00 Each	\$	2,650.00
	RESPIRATORY THERAPIST SERVICE FEE							
	Services include assessment of patient and							
	facility, Oxygen Therapy to include Sleep Apnea,							
20	monitoring and/or administer of O2 levels, train							
20	and educate patient and staff, assist patient							
	with proper fittings, adjust and maintain oxygen							
	equipment, and provide summary report if							
	necessary.	25	HR	No Bid		\$ 150.00	\$	3,750.00
21	OTHER CATALOG/PRICE LIST ITEMS Includes cannula, head gear and mask, and tubin NON-CORE STATE % OF DISCOUNT OFF CATALOG/PRICE LIST			O	0%	:	25%	
22	OTHER PORTABLE OXYGEN CYLINDER RENTAL AND GAS CONTENTS NON-CORE STATE % OF DISCOUNT OFF CATALOG/PRICE LIST			15%		25%		
23	OTHER MEDICAL EQUIPMENT NON-CORE STATE % OF DISCOUNT OFF CATALOG/PRICE LIST			19	5%		25%	
	Total				\$ 88,535.40		\$	338,467.00
Eastern N	ebraska Veterans' Home (ENVH)							
LINE#	Description	Estimated Qty	UoM	UNIT PRICE	EXTENDED PRICE	Unit Price	Ext	ended Price

	PORTABLE MEDICAL OXYGEN SYSTEM Includes		Π	1	1	1	
24	D CYLINDER, regulator, flowmeter, humidifer,				\$0.75 per day or		
24	cannula or mask, and tubing.				\$22.50 per		
	MONTHLY RENTAL WITH CONTENTS.	50	EA	No Bid	322.30 per month	\$	1,125.00
	1 EA = 1 month rental	30	EA	INO BIU	IIIOIIIII	٦	1,123.00
	OXYGEN CONTENTS, GASEOUS						
25	Includes D Cylinder and Oxygen Rental						
	1 EA = 1 month rental	100	EA	No Bid	\$5.75 Each	\$	575.00
	PORTABLE MEDICAL OXYGEN SYSTEM Includes						
	E CYLINDER, regulator, flowmeter, humidifer,						
26	cannula or mask, and tubing.				\$0.75 per day or		
	MONTHLY RENTAL WITH CONTENTS.				\$22.50 per		
	1 EA = 1 month rental	3100	EA	No Bid	month	\$	69,750.00
	OXYGEN CONTENTS, GASEOUS						
27	Includes E Cylinder and Oxygen Rental						
	1 EA = 1 month rental OXYGEN CONCENTRATORS	6,200	EA	No Bid	\$ 5.75 per E	\$	35,650.00
	Capable of delivering 85% or greater						
28	concentration at a prescribed flow rate.						
	MONTHLY RENTAL						
	1 EA = 1 month rental	200		N. D. I	4 40 00 /04		12 222 22
	State number of hours of usage:	300	EA	No Bid	\$ 40.00/Mo	۶ ,	12,000.00
	OXYGEN CONCENTRATORS						
	PURCHASE						
20	CIRCLE: New or Used				New Price:	\$	85,000.00
29	State number of hours of usage:				\$ 850.00		
					Used Price:		
	OWYGEN TURNIG	100	EA	No Bid	\$ 600.00	\$	60,000.00
30	OXYGEN TUBING	1000	F.A.	N. D. I	dag 00	,	20,000,00
	<u> </u>	1000	EA	No Bid	\$20.00 per case	\$	20,000.00
31	NEBULIZER KITS WITH MASKS	600	EA	No Bid	\$80.00 per case	\$	48,000.00
22	HAND HELD NEBULIZER KITS					Ė	, , , , , , , , , , , , , , , , , , , ,
32		25	EA	No Bid	\$80.00 per case	\$	2,000.00

			ŭ						
33	OTHER CATALOG/PRICE LIST ITEMS Includes cannula, head gear and mask, and tubing. NON-CORE STATE % OF DISCOUNT OFF CATALOG/PRICE LIST				0%		25%		
34	OTHER PORTABLE OXYGEN CYLINDER RENTAL AND GAS CONTENTS  NON-CORE  STATE % OF DISCOUNT OFF CATALOG/PRICE LIST				0%		25%		
35	OTHER MEDICAL EQUIPMENT  NON-CORE  STATE % OF DISCOUNT OFF CATALOG/PRICE LIST				0%		25%		
	Total				\$ -		\$	334,100.00	
Western	Nebraska Veterans' Home (WNVH)								
LINE #	Description	Estimated Qty	UoM	UNIT PRICE	EXTENDED PRICE	Unit Price	Ex	xtended Price	
36	PORTABLE MEDICAL OXYGEN SYSTEM Includes C CYLINDER, regulator, flowmeter, humidifer, cannula or mask, and tubing.  MONTHLY RENTAL WITH CONTENTS.  1 EA = 1 month rental	2,000	EA	No Bid		\$0.75 per day or \$22.50 per month	\$	45,000.00	
37	OXYGEN CONTENTS, GASEOUS Includes C Cylinder and Oxygen Rental 1 EA = 1 month rental	4,000	EA	No Bid		\$ 5.75	\$	23,000.00	
38	PORTABLE MEDICAL OXYGEN SYSTEM Includes E CYLINDER, regulator, flowmeter, humidifer, cannula or mask, and tubing. MONTHLY RENTAL WITH CONTENTS. 1 EA = 1 month rental	3000	EA	No Bid		\$0.75 per day or \$22.50 per month	\$	67,500.00	
39	OXYGEN CONTENTS, GASEOUS Includes E Cylinder and Oxygen Rental 1 EA = 1 month rental	6,948	EA	No Bid		\$ 5.75	\$	39,951.00	
40	OXYGEN CONTENTS, LIQUID Includes portable cylinder and and Oxygen Rental 1 EA = 1 month rental	100	EA	No Bid		\$1.00 per day or \$30.00 per month	\$	3,000.00	

## 6604 OF Procurement Contract Officer: Vicki Collins OPENING DATE: 11/24/21

## State Purchasing Bureau

41	BULK OXYGEN, LIQUID  1 LT = Liquid Liters					\$150 per dewar fill		?
41		1,750,000	LT	No Bid		dewar rental = \$2.50 per day		:
42	NEBULIZER KITS WITH MASKS	50	EA	No Bid		\$80.00 per case	\$	4,000.00
43	OXYGEN TUBING	50	EA	No Bid		\$20.00 per case		1,000.00
44	HAND HELD NEBULIZER KITS	50	EA	No Bid		\$80.00 per case		4,000.00
45	OTHER CATALOG/PRICE LIST ITEMS Includes cannula, head gear and mask, and tubing. NON-CORE STATE % OF DISCOUNT OFF CATALOG/PRICE LIST			0%		25%		
46	OTHER PORTABLE OXYGEN CYLINDER RENTAL AND GAS CONTENTS NON-CORE STATE % OF DISCOUNT OFF CATALOG/PRICE LIST			0%		25%		
47	OTHER MEDICAL EQUIPMENT  NON-CORE  STATE % OF DISCOUNT OFF CATALOG/PRICE LIST			0%		25%		
	Total				\$ -		\$	187,451.00
	Payment Terms:				et 30 15		0 0	
			VI.J.4. Will accept a long as in Trade Ar	added facilities as				

**REJECTED BIDS** 

Nebraska Medical Mart - late submission